Basic 3 Stitch Shawl (Peggy Brown)

Using regular worsted weight yard, with size 11 circular
& needles, cast on 75 stitches.

| Using this weight of yard usually takes about 4 skeins
of Red Heart Super saver yard (including fringing).

To complete the shawl, add a fringe to each stitch across
both ends.

Purling 3 and then knitting 3 stitches more clearly
defines the muitiple of 3 stitches.

Pattern:

Purl 3; knit 3 across. Repeat this pattern across. Turn at the end of each row and
continue in pattern.

Continue in this pattern until length desired for shawl.
Generally, I make a shawl as tall as I am - roughly 62 inches in length.

You may increase or decrease. To do so add or subtract in multiples of 3; however, the total

number should not be divisible by 2.



